



OFFICE OF THE CITY MANAGER



TO: Honorable Mayor and Members of the City Council
FROM: Patrick Urich, City Manager *Patrick Urich*
DATE: January 2, 2015
SUBJECT: Issues Update

The following are issues related to the City for the weekly Issues Update. If there are additional items you believe should be included, please let me know.

Emergency Communications Center Report: December 2014

Attached is the ECC report for the month of December.

Site Plan Review Board Agenda

The Site Plan Review Board (SPRB) agenda from December 29th is attached. Any questions related to the listed projects should be directed to the Planner assigned to the case.

Housing Court Cases

The list of housing court cases scheduled for January 6th is attached. Please note that these cases were also included in the previous edition of the Issues Update.

Code Violation Cases

The list of Code violation cases scheduled for January 6th is attached. Please note that these cases were also included in the previous edition of the Issues Update.

Emergency Communications Center



**Peoria
9-1-1**

Monthly Report December 2014

CITY OF PEORIA
EMERGENCY COMMUNICATIONS CENTER 2014 ANNUAL REPORT

	JAN	FEB	MAR	APR	MAY	JUN	JUL	AUG	SEP	OCT	NOV	DEC	TOTAL	2013 Totals
Landbased 9-1-1 Calls	2,164	2,280	1,988	2,327	2,420	2,425	2,615	1,995	2,881	2,209	2,072	2,338	27,714	29,991
Wireless 9-1-1 Calls	5,742	5,389	6,170	6,209	6,910	7,022	7,089	7,580	5,742	6,363	5,942	6,415	76,573	74,753
TOTAL 9-1-1 CALLS	7,906	7,669	8,158	8,536	9,330	9,447	9,704	9,575	8,623	8,572	8,014	8,753	104,287	104,744
Peoria Police Incoming Calls	7,192	6,862	7,601	7,931	8,430	8,248	8,801	8,537	8,134	7,927	6,429	6,910	93,002	92,820
Sheriff's Police Incoming Calls	2,772	2,570	2,799	2,534	2,757	2,877	3,056	3,109	2,765	2,873	2,393	2,328	32,833	35,064
TOTAL POLICE INCOMING CALLS	9,964	9,432	10,400	10,465	11,187	11,125	11,857	11,646	10,899	10,800	8,822	9,238	125,835	127,884
Volunteer Fire/EMS toll free calls	54	47	45	44	26	20	50	24	35	26	21	22	414	448
Peoria Fire Incoming Calls	777	723	675	739	849	875	753	864	688	645	605	538	8,731	9,017
TOTAL FIRE INCOMING CALLS	831	770	720	783	875	895	803	888	723	671	626	560	9,145	9,465
Operator Assist Calls/Alarm Calls	1,035	1,004	834	908	835	937	882	928	871	813	926	790	10,763	10,052
Ambulance Incoming Calls	197	191	179	225	214	228	231	250	205	199	192	220	2,531	2,400
ECC Supervisor Incoming Calls	830	857	777	854	787	879	780	850	842	792	761	785	9,794	11,131
Richwoods Dispatcher Incoming Calls	77	78	70	78	78	87	86	91	77	98	78	87	985	1,166
Downtown Dispatcher Incoming Calls	76	68	88	71	56	50	70	55	62	38	37	62	733	729
Prep 2 Dispatcher Incoming Calls	570	603	718	836	823	675	663	761	732	664	621	632	8,298	8,953
C-MED Dispatcher Incoming Calls	54	52	38	31	4	31	45	35	43	51	32	42	458	676
County Sheriff Dispatcher Incoming Calls	50	56	52	40	57	47	45	50	32	39	25	31	524	596
Fire Dispatcher Incoming Calls	104	102	95	82	122	73	74	70	70	98	72	58	1,020	1,175
OverFlow Dispatcher Incoming Calls	20	16	6	19	5	11	11	2	5	7	7	4	113	123
Call Taker Incoming Calls	0	0	3	2	0	1	2	0	1	1	2	0	12	35
TOTAL INCOMING EXTENSION CALLS	1,781	1,832	1,847	2,013	1,932	1,854	1,776	1,914	1,864	1,788	1,635	1,701	21,937	24,584
TOTAL OUTGOING EXTENSION CALLS	6,089	5,850	6,030	5,625	5,916	5,714	5,443	5,820	5,168	5,245	5,232	5,003	67,135	64,140
Peoria Police Dispatches/On view	7,181	6,880	8,295	9,128	9,545	9,360	9,915	9,483	8,783	8,431	7,157	7,566	101,724	99,168
Peoria County Sheriff Dispatches/On view	2,382	2,135	2,181	2,349	2,680	2,528	2,540	2,716	2,371	2,535	2,505	2,244	29,166	27,701
TOTAL POLICE DISPATCHES/ON VIEW	9,563	9,015	10,476	11,477	12,225	11,888	12,455	12,199	11,154	10,966	9,662	9,810	130,890	126,869
Air National Guard Fire Dispatches	5	7	4	11	2	11	5	3	8	1	8	6	71	67
Akron-Princeville Fire Dispatches	18	18	19	34	16	23	14	21	14	11	22	21	231	234
Brimfield Fire Dispatches	26	33	33	40	32	33	27	29	26	22	41	36	378	316
Dunlap Fire Dispatches	36	29	27	36	32	24	25	42	35	23	35	29	373	364
Elmwood Fire Dispatches	14	15	15	14	9	13	12	9	11	7	9	14	142	150
Limestone Fire Dispatches	106	86	98	123	120	138	114	136	112	119	100	105	1,357	1,270
Logan-Trivoli Fire Dispatches	33	41	38	49	37	38	34	32	30	24	46	41	443	371
Peoria Fire Dispatches	1,652	1,472	1,563	1,534	1,562	1,537	1,609	1,667	1,552	1,523	1,416	1,550	18,637	18,315
Timber-Hollis Fire Dispatches	39	36	31	41	24	22	31	24	19	24	22	32	345	333
Tuscarora Fire Dispatches	2	2	4	5	5	7	3	8	4	1	5	2	48	34
West Peoria Fire Dispatches	53	27	62	34	38	47	40	58	47	46	41	54	547	522
MABAS Fire Calls	5	3	7	2	2	4	1	4	2	4	4	3	41	40
MABAS EMS Calls	0	0	0	0	0	0	0	0	0	0	0	0	0	0
TOTAL FIRE DISPATCHES	1,989	1,769	1,901	1,923	1,879	1,897	1,915	2,033	1,860	1,805	1,749	1,893	22,613	21,976
AMT Ambulance Dispatches	1,310	1,154	1,139	1,261	1,352	1,284	1,363	1,427	1,305	1,238	998	1,144	14,975	14,778
APA Ambulance Dispatches	10	15	15	18	12	15	11	18	14	8	16	17	169	189
BYE Ambulance Dispatches	41	45	40	32	33	40	36	43	38	31	43	57	479	474
TOTAL AMBULANCE DISPATCHES	1,361	1,214	1,194	1,311	1,397	1,339	1,410	1,488	1,357	1,277	1,057	1,218	15,623	15,441
Peoria County Coroner Incoming Calls	202	210	202	160	203	187	184	182	120	175	182	183	2,190	2,401
Community Messaging System Call-outs	12	9	39	22	41	18	16	33	16	12	15	17	250	189
Telephone Trouble Reports Completed	0	0	4	0	0	0	0	0	0	0	0	1	5	19
ETSB Equipment Trouble Reported	7	5	8	7	5	4	6	10	6	1	6	5	70	75
Citizen Concerns	1	3	0	2	7	4	6	3	8	4	0	2	40	20
CD Requests from State's Attorney's Office	2	3	2	9	3	11	4	2	6	7	5	3	57	72
CD Requests from FOI / Subpoena	6	3	5	4	5	9	5	14	6	8	11	2	78	41
CD Requests from Inner Departmental	3	7	6	7	8	7	8	7	2	12	6	5	78	108
Total Number of CD Requests	11	13	13	20	16	27	17	23	14	27	22	10	213	221
ILEAS Call Outs	0	0	0	0	0	0	0	0	4	0	0	0	4	0
JULIE Dig	65	163	85	65	53	49	62	49	88	58	37	48	822	617

Yearly Summary

	Number of Calls	Dispatch Response Time	Police Response Time	Total Time	
PEORIA POLICE					
Urgent	34693	1.55	4.00	5.08	
Routine	19217	14.04	9.71	14.85	
Backlog	2305	21.48	6.91	29.60	
PEORIA COUNTY SHERIFF					
Urgent	4715	1.68	7.11	8.78	
Routine	6446	9.98	9.18	19.17	
Backlog	665	32.86	11.83	44.69	
	Number of Calls	Dispatch Response Time	Fire Response Time	Total Time	Average Turnout Time
PEORIA FIRE	18489	0.73	4.39	5.12	1.53

City of Peoria
Emergency Communications Center

Police Department
Urgent Calls for Service
By Police District

	Police District	VALLEY							BLUFF			RICHWOODS							Total Calls	Total Minutes	Calls	Average
		1	2	4	5	6	8	12	3	10	11	13	14	15	16	17	18	19				
January 2014	Number of Calls	104	138	363	184	42	173	100	119	287	209	228	97	79	214	6	110	142	2595	0		
	Exceptions																					
	Dispatch Response Time	1.3	0.7	0.9	0.8	1.1	0.9	1.0	0.7	0.7	1.0	1.3	1.0	0.9	1.3	3.6	1.2	1.2	2567.5	2595	0.99	
	Police Response Time	2.5	3.8	3.5	3.8	3.7	3.5	4.6	3.9	3.7	4.1	5.4	5.4	5.6	7.7	6.7	5.5	7.6	11927.5	2595	4.60	
	Total time	3.8	4.5	4.4	4.6	4.8	4.4	5.6	4.6	4.4	5.1	6.7	6.4	6.5	9.0	10.3	6.7	8.8	14495.0	2595	5.59	
February 2014	Number of Calls	104	82	298	174	54	175	73	110	244	166	182	110	71	194	8	118	114	2277	0		
	Exceptions																					
	Dispatch Response Time	0.6	0.6	1.6	1.0	1.1	0.9	1.5	0.8	1.0	1.3	1.2	1.0	0.9	1.2	0.6	0.9	1.3	2520.9	2277	1.11	
	Police Response Time	2.6	4.1	3.8	3.5	3.5	3.3	6.1	3.7	3.5	6.0	4.6	4.9	5.5	7.1	10.0	4.7	7.2	10416.3	2277	4.57	
	Total time	3.2	4.7	5.4	4.5	4.6	4.2	7.6	4.5	4.5	7.3	5.8	5.9	6.4	8.3	10.6	5.6	8.5	12937.2	2277	5.68	
March 2014	Number of Calls	122	116	414	201	49	232	98	137	325	232	242	97	81	177	4	111	113	2751	0		
	Exceptions																					
	Dispatch Response Time	0.6	0.7	1.1	1.1	0.6	0.9	1.7	0.9	0.8	1.1	1.2	0.9	1.3	1.1	5.3	1.3	1.2	2853.0	2751	1.04	
	Police Response Time	2.4	3.5	3.1	3.1	2.4	3.4	4.1	3.6	3.2	3.4	5.0	4.6	5.3	6.7	10.5	5.6	6.6	10916.3	2751	3.97	
	Total time	3.0	4.2	4.2	4.2	3.0	4.3	5.8	4.5	4.0	4.5	6.2	5.5	6.6	7.8	15.8	6.9	7.8	13769.3	2751	5.01	
April 2014	Number of Calls	81	115	499	219	60	266	111	151	367	286	236	113	76	240	4	112	103	3039	0		
	Exceptions																					
	Dispatch Response Time	0.7	1.0	1.0	0.9	0.9	1.0	1.3	1.0	1.3	1.0	1.0	0.8	1.4	1.0	6.7	1.3	1.3	3225.3	3039	1.06	
	Police Response Time	2.6	3.7	3.0	2.9	3.6	3.3	4.0	3.8	3.1	3.3	4.5	4.0	6.6	6.8	9.5	4.6	6.5	11831.6	3039	3.89	
	Total time	3.3	4.7	4.0	3.8	4.5	4.3	5.3	4.8	4.4	4.3	5.5	4.8	8.0	7.8	16.2	5.9	7.8	15056.9	3039	4.95	
May 2014	Number of Calls	139	141	560	267	56	291	112	155	388	308	204	90	70	192	4	114	130	3221	0		
	Exceptions																					
	Dispatch Response Time	1.3	1.2	1.2	1.3	0.8	1.1	0.9	1.0	1.6	1.4	1.7	0.9	0.5	1.0	0.7	1.6	0.8	3985.7	3221	1.24	
	Police Response Time	2.8	3.5	3.0	2.8	3.7	3.2	4.2	3.6	3.2	3.6	4.4	4.2	5.0	5.7	7.3	4.4	6.1	11871.3	3221	3.69	
	Total time	4.1	4.7	4.2	4.1	4.5	4.3	5.1	4.6	4.8	5.0	6.1	5.1	5.5	6.7	8.0	6.0	6.9	15857.0	3221	4.92	
June 2014	Number of Calls	126	117	591	230	55	275	126	193	392	294	235	89	65	221	3	122	117	3251	0		
	Exceptions																					
	Dispatch Response Time	1.2	0.7	1.1	1.2	0.8	1.2	0.8	0.9	0.9	1.1	1.7	1.2	1.5	1.1	1.0	0.8	1.3	3583.5	3251	1.10	
	Police Response Time	2.8	3.4	3.0	3.4	3.4	3.1	4.4	3.3	3.0	3.3	4.2	4.2	5.3	6.3	7.7	4.5	7.4	12218.1	3251	3.76	
	Total time	4.0	4.1	4.1	4.6	4.2	4.3	5.2	4.2	3.9	4.4	5.9	5.4	6.8	7.4	8.7	5.3	8.7	15801.6	3251	4.86	
July 2014	Number of Calls	122	117	535	261	43	276	141	170	457	304	252	125	61	238	8	105	139	3354	0		
	Exceptions																					
	Dispatch Response Time	0.9	0.9	1.1	0.9	1.1	0.8	0.8	1.1	1.1	1.0	1.2	0.9	0.9	1.1	14.0	1.9	1.5	3664.7	3354	1.09	
	Police Response Time	2.8	3.2	3.0	3.0	2.8	2.9	4.1	3.5	2.9	3.6	4.8	4.7	5.4	6.1	8.8	4.1	6.1	12544.7	3354	3.74	
	Total time	3.7	4.1	4.1	3.9	3.9	3.7	4.9	4.6	4.0	4.6	6.0	5.6	6.3	7.2	22.8	6.0	7.6	16209.4	3354	4.83	

Urgent-3 min or less
Routine-30 min or less
Backlog-60 min or less

This report does not include on-view incidents.

City of Peoria
Emergency Communications Center

Police Department
Urgent Calls for Service
By Police District

	Police District	VALLEY							BLUFF			RICHWOODS							Total Calls	Total Minutes	Calls	Average
		1	2	4	5	6	8	12	3	10	11	13	14	15	16	17	18	19				
August 2014	Number of Calls	113	150	510	254	69	291	124	195	418	277	252	126	95	222	5	112	125	3338	0		(total min/total calls)
	Exceptions																					
	Dispatch Response Time	0.9	0.8	1.2	1.2	1.4	1.3	1.0	0.9	1.1	1.1	1.7	0.7	1.0	1.1	1.6	0.9	1.2	3792.0	3338	1.14	
	Police Response Time	2.4	3.6	3.0	3.0	3.3	2.9	3.7	3.4	3.2	3.6	4.2	4.4	5.2	5.9	8.6	4.4	7.2	12483.8	3338	3.74	
	Total time	3.3	4.4	4.2	4.2	4.7	4.7	4.3	4.3	4.7	5.9	5.1	6.2	7.0	10.2	5.3	8.4	16275.8	3338	4.88		
September 2014	Number of Calls	109	129	450	201	49	251	112	154	387	248	233	111	78	172	3	96	127	2910	0		(total min/total calls)
	Exceptions																					
	Dispatch Response Time	1.0	1.1	1.1	1.0	0.7	1.1	0.9	1.5	1.3	1.3	1.0	1.6	0.7	1.5	0.7	1.4	1.9	3515.6	2910	1.21	
	Police Response Time	2.7	3.4	3.1	3.1	3.4	2.8	3.8	3.4	3.7	3.8	4.8	4.7	5.4	6.6	10.0	4.4	7.0	11481.8	2910	3.95	
	Total time	3.7	4.5	4.2	4.1	4.1	3.9	4.7	4.9	5.0	5.1	5.8	6.3	6.1	8.1	10.7	5.8	8.9	14997.4	2910	5.15	
October 2014	Number of Calls	113	110	416	188	47	216	100	151	355	225	240	98	73	195	3	78	108	2716	0		(total min/total calls)
	Exceptions																					
	Dispatch Response Time	1.2	0.9	0.9	0.9	1.0	0.7	0.9	1.2	1.3	1.6	1.2	1.0	0.9	1.0	3.5	0.8	1.6	2961.5	2716	1.09	
	Police Response Time	2.9	4.1	3.0	3.0	3.0	3.1	4.0	3.6	3.5	3.9	4.4	4.6	6.0	5.9	10.0	3.8	6.9	10631.8	2716	3.91	
	Total time	4.1	5.0	3.9	3.9	4.0	3.8	4.9	4.8	4.8	5.5	5.6	5.6	6.9	6.9	13.5	4.6	8.5	13593.3	2716	5.00	
November 2014	Number of Calls	115	123	368	148	54	247	104	154	247	219	184	113	77	210	3	108	79	2553	0		(total min/total calls)
	Exceptions																					
	Dispatch Response Time	0.7	0.9	0.8	1.0	1.3	0.9	0.8	1.1	1.6	1.0	0.8	1.3	0.6	1.4	0.5	1.6	0.8	2664.7	2553	1.04	
	Police Response Time	2.1	3.2	7.1	3.4	3.7	3.0	4.3	3.3	3.5	3.3	4.4	4.5	5.4	6.3	6.3	4.1	7.1	11314.0	2553	4.43	
	Total time	2.8	4.1	7.9	4.4	5.0	3.9	5.1	4.4	5.1	4.3	5.2	5.8	6.0	7.7	6.8	5.7	7.9	13978.7	2553	5.48	
December 2014	Number of Calls	121	106	424	200	42	236	92	125	337	251	189	71	63	194	7	104	126	2688	0		(total min/total calls)
	Exceptions																					
	Dispatch Response Time	0.6	1.1	0.8	0.9	1.3	0.8	0.9	0.8	1.0	1.0	0.8	0.9	0.8	1.4	0.5	1.3	1.1	2537.0	2688	0.94	
	Police Response Time	2.3	3.1	2.9	2.9	3.0	2.8	5.5	3.2	2.8	3.6	4.4	4.3	4.9	6.3	8.4	4.3	6.5	9949.3	2688	3.70	
	Total time	2.9	4.2	3.7	3.8	4.3	3.6	6.4	4.0	3.8	4.6	5.2	5.2	5.7	7.7	8.9	5.6	7.6	12486.3	2688	4.65	
YEAR TO DATE TOTALS AND AVERAGES																						
	Total Number of Calls																	34693				
	Total Number of Exceptions																	0				
	Average Dispatch Response Time																	1.55				
	Average Police Response Time																	4.00				
	Average Total Time																	5.08				

Urgent-3 min or less
Routine-30 min or less
Backlog-60 min or less

This report does not include on-view incidents.

City of Peoria
Emergency Communications Center

Police Department
Routine Calls for Service
By Police District

	Police District	VALLEY							BLUFF			RICHWOODS							Total Calls	Total Minutes	Calls	Average
		1	2	4	5	6	8	12	3	10	11	13	14	15	16	17	18	19				
January 2014	Number of Calls	80	161	234	113	111	129	110	114	246	207	193	113	98	188	7	153	135	2392			(total min/total calls)
	Exceptions																		0			
	Dispatch Response Time	7.9	9.5	7.9	10.4	9.9	11.6	9	10.4	11.2	10.7	11.6	8.8	11.3	9.5	9.8	11.9	13.9	24818.7	2392	10.38	
	Police Response Time	4.6	6.8	5.4	5.4	6.5	5.5	6.9	5.9	5.7	5.6	6.5	8.1	7.4	8.7	11.1	8.8	9.2	15957.3	2392	6.67	
	Total time	12.5	16.3	13.3	15.8	16.4	17.1	15.9	16.3	16.3	18.1	16.9	18.7	18.2	20.9	20.7	23.1		40776.0	2392	17.05	
February 2014	Number of Calls	60	134	228	126	96	115	143	118	243	180	13	14	15	16	17	18	19	2229			(total min/total calls)
	Exceptions																		0			
	Dispatch Response Time	8.3	9.6	10.1	11.8	9.8	5.8	11.8	8.3	13.2	14.7	12.0	8.7	8.5	10.9	13.1	12.7	17.7	24968.1	2229	11.20	
	Police Response Time	5.2	6.5	5.8	5.4	5.7	5.0	6.5	6.0	5.4	5.8	7.5	6.8	7.4	8.6	10.1	8.6	9.3	14711.5	2229	6.60	
	Total time	13.5	16.1	15.9	17.2	15.5	10.8	18.3	14.3	18.6	20.5	19.5	15.5	15.9	19.5	23.2	21.3	27.0	39679.6	2229	17.80	
March 2014	Number of Calls	78	157	307	137	87	138	140	140	317	243	207	126	102	213	9	168	101	2670			(total min/total calls)
	Exceptions																		0			
	Dispatch Response Time	8.9	15.0	11.4	16.3	12.3	11.9	14.5	12.4	17.5	16.6	14.9	14.9	15.0	15.9	2.1	15.6	12.6	38632.4	2670	14.47	
	Police Response Time	4.5	5.1	4.7	4.4	5.1	5.2	6.8	6.0	5.6	5.1	6.0	7.4	7.6	8.1	10.4	8.5	7.8	16149.5	2670	6.05	
	Total time	13.4	20.1	16.1	20.7	17.4	17.1	21.3	18.4	23.1	21.7	20.9	22.3	22.6	24.0	12.5	24.1	20.4	54781.9	2670	20.52	
April 2014	Number of Calls	83	175	363	156	92	169	172	143	348	256	200	167	97	194	9	169	122	2915			(total min/total calls)
	Exceptions																		0			
	Dispatch Response Time	14.6	13.4	14.0	17.1	15.8	15.7	14.7	17.7	17.8	15.4	16.2	16.6	13.7	17.5	6.7	14.5	17.7	46015.9	2915	15.79	
	Police Response Time	4.7	5.8	4.4	5.3	5.5	4.5	5.4	5.3	5.3	5.0	6.7	6.6	7.2	8.3	12.0	8.0	7.3	17008.1	2915	5.83	
	Total time	19.3	19.2	18.4	22.4	21.3	20.2	20.1	23.0	23.1	20.4	22.9	23.2	20.9	25.8	18.7	22.5	25.0	63024.0	2915	21.62	
May 2014	Number of Calls	74	179	410	172	110	186	167	151	395	343	205	119	105	202	10	154	133	3115			(total min/total calls)
	Exceptions																		0			
	Dispatch Response Time	9.7	12.8	13.3	16.5	14.2	12.6	16.8	16.3	17.3	17.4	14.0	10.9	11.4	16.5	36.1	15.1	15.0	46652.7	3115	14.98	
	Police Response Time	4.7	5.7	4.6	4.2	6.5	4.7	6.3	5.5	5.1	5.1	6.3	7.2	7.4	8.0	12.2	7.5	7.5	18027.9	3115	5.79	
	Total time	14.4	18.5	17.9	20.7	20.7	17.3	23.1	21.8	22.4	22.5	20.3	18.1	18.8	24.5	48.3	22.6	22.5	64680.6	3115	20.76	
June 2014	Number of Calls	66	143	369	142	82	174	141	153	378	265	206	118	96	229	9	151	136	2858			(total min/total calls)
	Exceptions																		0			
	Dispatch Response Time	12.8	12.0	13.5	15.9	15.4	12.2	11.9	13.8	16.1	16.9	14.7	13.6	8.5	15.2	33.8	12.5	18.7	41204.0	2858	14.42	
	Police Response Time	4.4	4.9	4.7	4.5	6.2	4.4	6.1	5.0	4.9	5.4	6.1	7.0	7.1	8.6	13.1	7.2	8.6	16655.0	2858	5.83	
	Total time	17.2	16.9	18.2	20.4	21.6	18.0	18.8	21.0	22.3	20.8	20.6	15.6	23.8	46.9	19.7	27.3		57859.0	2858	20.24	
July 2014	Number of Calls	74	194	397	189	97	191	139	147	419	238	192	118	113	214	8	161	147	3038			(total min/total calls)
	Exceptions																		0			
	Dispatch Response Time	7.5	11.6	14.7	15.0	15.9	12.9	12.8	12.0	16.7	17.9	20.1	14.9	13.1	15.7	14.0	18.9	20.2	46865.0	3038	15.43	
	Police Response Time	4.4	5.7	3.8	4.1	7.7	4.9	5.6	5.6	4.4	5.5	5.9	6.7	6.0	8.4	7.4	8.4	8.1	17153.2	3038	5.65	
	Total time	11.9	17.3	18.5	19.1	23.6	17.8	18.4	17.6	21.1	23.4	26.0	21.6	19.1	24.1	21.4	27.3	28.3	64018.2	3038	21.07	

Urgent-3 min or less
Routine-30 min or less
Backlog-60 min or less

This report does not include on-view incidents.

City of Peoria
Emergency Communications Center

Police Department
Routine Calls for Service
By Police District

	Police District	VALLEY							BLUFF			RICHWOODS							Total Calls	Total Minutes	Calls	Average
		1	2	4	5	6	8	12	3	10	11	13	14	15	16	17	18	19				
August 2014	Number of Calls	95	161	344	147	87	188	154	158	410	267	205	105	79	229	8	151	132	2920			(total min/total calls)
	Exceptions																		0			
	Dispatch Response Time	11.6	14.6	12.4	14.3	10.7	13.4	15.3	12.4	18.2	16.8	18.7	12.5	16.3	16.2	20.0	18.5	11.4	44135.2	2920		15.11
	Police Response Time	4.2	5.2	4.7	4.2	5.3	4.6	6.0	6.2	4.7	5.4	6.0	6.3	6.8	8.6	11.8	8.7	7.9	16917.7	2920		5.79
	Total time	15.8	19.8	17.1	18.5	16.0	18.0	21.3	18.6	22.9	22.2	24.7	18.8	23.1	24.8	31.8	27.2	19.3	61052.9	2920		20.91
September 2014	Number of Calls	81	158	347	157	118	169	148	150	366	263	201	132	121	237	7	141	139	2935			(total min/total calls)
	Exceptions																		0			
	Dispatch Response Time	8.8	13.8	12.4	18.1	16.2	14.3	15.6	13.9	18.2	22.5	15.0	16.7	15.5	17.3	14.8	15.2	20.6	47643.7	2935		16.23
	Police Response Time	3.9	5.8	4.6	4.8	7.3	4.4	5.4	5.4	5.6	6.0	6.4	7.0	8.4	8.9	19.3	7.1	8.7	18105.5	2935		6.17
	Total time	12.7	19.6	17.0	22.9	23.5	18.7	21.0	19.3	23.8	28.5	21.4	23.7	23.9	26.2	34.1	22.3	29.3	65749.2	2935		22.40
October 2014	Number of Calls	73	174	319	132	91	146	165	166	316	233	169	124	89	184	5	157	117	2660			(total min/total calls)
	Exceptions																		0			
	Dispatch Response Time	10.5	12.5	11.1	11.8	12.8	11.2	12.2	9.2	17.1	17.8	15.0	10.6	17.0	21.6	13.6	11.8	14.1	36838.3	2660		13.85
	Police Response Time	4.3	5.8	4.9	4.7	5.4	5.3	6.7	6.0	5.4	5.8	6.0	6.6	7.1	8.9	9.8	6.6	9.1	16182.9	2660		6.08
	Total time	14.8	18.3	16.0	16.5	18.2	18.9	15.2	22.5	23.6	21.0	17.2	24.1	30.5	23.4	18.4	23.2		53021.2	2660		19.93
November 2014	Number of Calls	68	113	217	106	86	123	108	128	261	179	154	97	100	196	6	126	92	2160			(total min/total calls)
	Exceptions																		0			
	Dispatch Response Time	10.5	12.2	8.7	11.5	13.7	8.3	16.9	12.0	12.3	14.2	17.6	15.6	10.0	14.7	11.6	11.9	11.6	27252.9	2160		12.62
	Police Response Time	4.5	5.1	5.2	5.3	5.1	4.9	6.1	5.4	5.5	6.2	5.7	6.5	7.5	9.1	11.5	8.3	7.5	13355.8	2160		6.18
	Total time	15.0	17.3	13.9	16.8	18.8	23.0	17.4	17.8	20.4	23.3	22.1	17.5	23.8	23.1	20.2	19.1		40608.7	2160		18.80
December 2014	Number of Calls	67	121	246	114	68	134	106	110	261	212	147	116	114	239	7	152	111	2325			(total min/total calls)
	Exceptions																		0			
	Dispatch Response Time	11.9	14.6	13.0	17.0	9.9	10.5	13.2	10.4	14.6	15.9	12.7	14.1	12.8	18.0	6.3	11.7	19.8				
	Police Response Time	5.1	5.5	4.3	5.2	5.9	4.7	6.2	5.3	5.2	5.9	6.3	13.4	7.8	9.0	12.1	7.0	8.5	15149.9	2325		
	Total time	17.0	20.1	17.3	22.2	15.8	19.4	15.7	19.8	21.8	19.0	27.5	20.6	27.0	18.4	18.7	28.3		15149.9	2325		
YEAR TO DATE TOTALS AND AVERAGES																						
	Total Number of Calls																	19217				
	Total Number of Exceptions																	13000				
	Average Dispatch Response Time																	14.04				
	Average Police Response Time																	9.71				
	Average Total Time																	14.85				

City of Peoria
Emergency Communications Center

Police Department
Backlog Calls for Service
By Police District

	Police District	VALLEY								BLUFF			RICHWOODS							Total Calls	(total min/total calls)	
		1	2	4	5	6	8	12	3	10	11	13	14	15	16	17	18	19				
January 2014	Number of Calls	1	2	4	5	6	8	12	3	10	11	13	14	15	16	17	18	19	169	Calls	Average	
	Exceptions	5	36	14	8	5	6	9	7	17	19	5	7	14	8	0	1	8	0			
	Dispatch Response Time	22.0	19.5	9.9	12.9	6.4	1.5	36.4	23.0	34.4	18.1	12.8	14.6	36.5	8.1	0.0	4.0	14.6	3374.9	169	19.97	
	Police Response Time	12.6	8.7	4.4	5.8	5.8	3.3	9.3	8.1	7.3	5.2	4.6	7.7	9.5	8.7	0.0	0.0	11.8	1270.2	169	7.52	
Total time	34.6	28.2	14.3	18.7	12.2	4.8	45.7	31.1	41.7	23.3	17.4	22.3	46.0	16.8	0.0	4.0	26.4	4645.1	169	27.49		
February 2014	Number of Calls	1	2	4	5	6	8	12	3	10	11	13	14	15	16	17	18	19	178	Calls	Average	
	Exceptions	4	45	11	4	2	3	8	4	16	20	13	7	13	12	0	6	10	0			
	Dispatch Response Time	17.5	23.3	8.5	17.3	36.0	21.0	25.5	32.5	30.7	22.8	19.2	17.7	39.3	9.2	0.0	31.5	25.3	4134.2	178	23.23	
	Police Response Time	10.0	10.0	4.1	4.0	7.0	6.5	6.5	5.0	4.3	5.4	6.2	11.2	9.3	13.0	0.0	12.0	7.9	1420.3	178	7.98	
Total time	27.5	33.3	12.6	21.3	43.0	27.5	32.0	37.5	35.0	28.2	25.4	28.9	48.6	22.2	0.0	43.5	33.2	5554.5	178	31.21		
March 2014	Number of Calls	1	2	4	5	6	8	12	3	10	11	13	14	15	16	17	18	19	190	Calls	Average	
	Exceptions	6	37	13	7	2	8	13	7	25	13	13	7	7	9	1	10	12	0			
	Dispatch Response Time	15.8	20.4	18.0	25.1	29.0	17.5	30.1	22.3	21.9	23.9	26.8	32.0	13.4	31.3	0.0	31.7	22.2	4394.2	190	23.13	
	Police Response Time	3.3	7.3	5.8	4.0	3.0	4.4	5.4	5.2	5.6	4.5	7.8	5.7	7.7	6.8	19.0	8.2	8.0	1193.0	190	6.28	
Total time	19.1	27.7	23.8	29.1	32.0	21.9	35.5	27.5	27.5	28.4	34.6	37.7	21.1	38.1	19.0	39.9	30.2	5587.2	190	29.41		
April 2014	Number of Calls	1	2	4	5	6	8	12	3	10	11	13	14	15	16	17	18	19	195	Calls	Average	
	Exceptions	6	44	14	8	4	10	5	11	17	19	15	7	7	12	0	10	6	0			
	Dispatch Response Time	23.8	23.2	16.6	22.8	10.8	22.7	10.8	22.5	23.4	39.7	42.9	33.0	23.7	33.5	0.0	16.8	16.0	5008.6	195	25.69	
	Police Response Time	6.0	8.7	6.8	4.0	3.7	4.7	5.2	9.5	4.2	6.1	8.0	11.8	8.7	8.5	0.0	8.2	6.5	1412.1	195	7.24	
Total time	29.8	31.9	23.4	26.8	14.5	27.4	16.0	32.0	27.6	45.8	50.9	44.8	32.4	42.0	0.0	25.0	22.5	6420.7	195	32.93		
May 2014	Number of Calls	1	2	4	5	6	8	12	3	10	11	13	14	15	16	17	18	19	183	Calls	Average	
	Exceptions	3	48	24	8	2	3	2	4	20	20	10	6	7	7	0	10	9	0			
	Dispatch Response Time	7.3	12.7	28.7	27.8	40.0	4.0	11.0	2.0	25.1	24.9	17.4	20.2	23.1	26.4	0.0	24.5	41.6	3925.8	183	21.45	
	Police Response Time	9.5	7.4	7.1	4.8	9.0	9.3	5.5	7.5	6.3	5.1	5.8	6.0	6.9	8.2	0.0	8.2	10.9	1287.2	183	7.03	
Total time	16.8	20.1	35.8	32.6	49.0	13.3	16.5	9.5	31.4	30.0	23.2	26.2	30.0	34.6	0.0	32.7	52.5	5213.0	183	28.49		
June 2014	Number of Calls	1	2	4	5	6	8	12	3	10	11	13	14	15	16	17	18	19	287	Calls	Average	
	Exceptions	3	36	62	10	6	16	13	11	47	26	16	5	9	12	7	8	0				
	Dispatch Response Time	17.0	22.4	16.2	32.8	16.8	12.2	40.0	18.6	20.8	42.3	15.8	34.2	21.9	27.6	0.0	9.6	24.9	6506.3	287	22.67	
	Police Response Time	10.5	10.4	3.2	5.0	5.0	4.1	7.3	5.9	4.3	5.1	4.8	5.2	5.0	6.1	0.0	4.0	8.2	1559.0	287	5.43	
Total time	27.5	32.8	19.4	37.8	21.8	16.3	47.3	24.5	25.1	47.4	20.6	39.4	26.9	33.7	0.0	13.6	33.1	8065.3	287	28.10		
July 2014	Number of Calls	1	2	4	5	6	8	12	3	10	11	13	14	15	16	17	18	19	296	Calls	Average	
	Exceptions	5	46	32	8	5	13	11	12	46	31	33	5	8	9	13	19	0				
	Dispatch Response Time	24.2	22.5	18.5	19.6	10.4	16.3	40.7	25.1	30.0	17.2	13.6	17.4	15.0	16.6	0.0	21.0	24.4	6372.6	296	21.53	
	Police Response Time	3.8	9.2	2.6	3.4	5.8	5.8	5.5	5.6	4.3	5.1	6.4	7.0	6.6	8.8	0.0	8.0	6.1	1738.7	296	5.87	
Total time	28.0	31.7	21.1	23.0	16.2	22.1	46.2	30.7	34.3	22.3	20.0	24.4	21.6	25.4	0.0	29.0	30.5	8111.3	296	27.40		

Urgent-3 min or less
Routine-30 min or less
Backlog-60 min or less

This report does not include on-view incidents.

City of Peoria
Emergency Communications Center

Police Department
Backlog Calls for Service
By Police District

Month	Police District	VALLEY							BLUFF			RICHWOODS							Total Calls	Total Minutes	Calls	Average
		1	2	4	5	6	8	12	3	10	11	13	14	15	16	17	18	19				
August 2014	Number of Calls	5	42	9	8	5	12	8	9	33	12	14	7	3	12	0	4	7	190	0		
	Exceptions																		0			
	Dispatch Response Time	15.4	19.0	14.6	18.5	16.6	13.6	21.3	28.0	26.5	27.0	12.4	20.1	16.0	28.3	0.0	17.0	39.9	4070.7	190	21.42	
	Police Response Time	4.4	9.7	7.3	5.9	7.2	5.0	6.0	6.4	6.1	4.7	4.6	4.2	9.3	10.6	0.0	4.8	13.2	1362.1	190	7.17	
	Total time	19.8	28.7	21.9	24.4	23.8	18.6	27.3	34.4	32.6	31.7	17.0	24.3	25.3	38.9	0.0	21.8	53.1	5432.8	190	28.59	
September 2014	Number of Calls	2	50	8	7	5	6	4	8	14	13	10	3	1	11	1	3	8	154	0		
	Exceptions																		0			
	Dispatch Response Time	2.0	28.8	10.5	30.4	17.0	5.3	27.5	22.0	21.1	49.8	52.6	21.3	75.0	63.3	2.0	50.3	17.5	4740.5	154	30.78	
	Police Response Time	5.0	7.4	3.4	6.8	6.6	3.7	7.0	10.7	5.5	8.7	4.9	6.7	20.0	8.9	8.0	7.0	11.9	1124.9	154	7.30	
	Total time	7.0	36.2	13.9	37.2	23.6	9.0	34.5	32.7	26.6	58.5	57.5	28.0	95.0	72.2	10.0	57.3	29.4	5865.4	154	38.09	
October 2014	Number of Calls	3	43	19	6	4	12	14	11	15	12	8	5	2	9	0	7	9	179	0		
	Exceptions																		0			
	Dispatch Response Time	12.5	22.7	14.9	13.2	22.8	14.7	30.5	19.6	19.5	24.1	46.4	26.8	7.5	45.1	0.0	31.7	20.1	4196.7	179	23.45	
	Police Response Time	8.0	8.1	5.1	4.8	3.3	5.2	7.5	5.5	5.4	6.4	6.0	9.5	8.5	9.8	0.0	6.0	10.9	1237.7	179	6.91	
	Total time	8.1	30.8	20.0	18.0	26.1	19.9	38.0	25.1	24.9	30.5	52.4	36.3	16.0	54.9	0.0	37.7	31.0	5434.4	179	30.36	
November 2014	Number of Calls	4	36	14	5	2	9	5	13	15	15	7	6	5	10	0	2	2	150	0		
	Exceptions																		0			
	Dispatch Response Time	4.5	22.7	3.8	47.0	0.0	26.8	13.6	28.3	43.2	38.7	10.6	28.0	25.0	23.4	0.0	27.5	40.5	3766.2	150	25.11	
	Police Response Time	3.3	10.1	6.8	5.6	0.0	6.0	6.8	7.8	5.1	5.9	7.0	11.2	9.6	7.4	0.0	7.0	8.5	1123.6	150	7.49	
	Total time	8.1	32.8	10.6	52.6	0.0	32.8	20.4	36.1	48.3	44.6	17.6	39.2	34.6	30.8	0.0	34.5	49.0	4889.8	150	32.60	
December 2014	Number of Calls	0	25	8	8	0	5	8	7	14	9	12	8	5	15	0	3	7	134	0		
	Exceptions																		0			
	Dispatch Response Time	0.0	21.7	21.0	6.9	0.0	14.5	27.3	8.0	24.6	62.0	55.0	22.0	27.8	33.7	0.0	3.3	36.1	3758.1	134	28.05	
	Police Response Time	0.0	8.0	4.5	6.0	0.0	4.0	9.0	4.7	6.2	5.3	4.9	11.0	7.0	8.7	0.0	9.0	10.3	954.8	134	7.13	
	Total time	8.1	29.7	25.5	12.9	0.0	18.5	36.3	12.7	30.8	67.3	59.9	33.0	34.8	42.4	0.0	12.3	46.4	4712.9	134	35.17	
YEAR TO DATE TOTALS AND AVERAGES																						
																	Total Number of Calls		2305			
																	Total Number of Exceptions		0.0			
																	Average Dispatch Response Time		21.48			
																	Average Police Response Time		6.91			
																	Average Total Time		29.60			

Urgent-3 min or less
Routine-30 min or less
Backlog-60 min or less

This report does not include on-view incidents.

City of Peoria
Emergency Communications Center

Peoria Fire Department
Fire Calls for Service
By Fire Map

	Fire Map	VALLEY				BLUFF			RICHWOODS					Total Calls	Total Minutes	Calls	Average
		100-199	200-299	400-499	1200-1299	300-399	1000-1099	1100-1199	1300-1399	1500-1599	1600-1699	1900-1999	2000-2099				
January 2014	Number of Calls	263	96	225	65	153	148	123	236	53	151	80	50	1643			(total min/total calls)
	Dispatch Response Time	0.6	0.8	0.4	0.4	0.9	0.4	1.1	1.5	2.7	0.3	0.8	0.3	1304.2	1643	0.79	
	Fire Response Time	3.8	4	4.2	4.6	4.2	5	4.6	5.4	4.3	5.1	6.3	6	7652.2	1643	4.66	
	Total time	4.4	4.8	4.6	5.0	5.1	5.4	5.7	6.9	7.0	5.4	7.1	6.3	8956.4	1643	5.45	
February 2014	Number of Calls	244	79	175	59	130	146	114	225	43	128	78	32	1453			(total min/total calls)
	Dispatch Response Time	0.7	0.6	0.6	1.2	0.4	0.4	1.1	1.0	0.5	0.6	0.8	0.5	1031.5	1453	0.71	
	Fire Response Time	3.8	4.3	3.8	5.9	4.2	5.2	4.3	5.3	5	4.8	5.5	5.5	6702.3	1453	4.61	
	Total time	4.5	4.9	4.4	7.1	4.6	5.6	5.4	6.3	5.5	5.4	6.3	6.0	7733.8	1453	5.32	
March 2014	Number of Calls	277	98	221	64	138	144	103	217	26	138	73	37	1536			(total min/total calls)
	Dispatch Response Time	0.5	0.4	0.9	0.4	0.8	2.0	0.6	0.5	1.0	0.7	1.1	0.9	1207.1	1536	0.79	
	Fire Response Time	3.5	3.7	4	4.9	4.1	4.7	4.3	4.9	5.1	4.7	5.8	5.6	6690.3	1536	4.36	
	Total time	4.0	4.1	4.9	5.3	4.9	6.7	4.9	5.4	6.1	5.4	6.9	6.5	7897.4	1536	5.14	
April 2014	Number of Calls	279	90	207	62	140	144	122	218	49	122	63	35	1531			(total min/total calls)
	Dispatch Response Time	0.6	1.9	0.6	1.2	0.8	1.3	0.5	0.9	1.2	0.3	0.5	0.3	1230.8	1531	0.80	
	Fire Response Time	3.5	3.6	4	4.9	4.1	4.4	4.2	4.8	5.3	4.6	5.5	5.5	6558.6	1531	4.28	
	Total time	4.1	5.5	4.6	6.1	4.9	5.7	4.7	5.7	6.5	4.9	6.0	5.8	7789.4	1531	5.09	
May 2014	Number of Calls	272	105	239	61	153	145	108	179	34	141	65	33	1535			(total min/total calls)
	Dispatch Response Time	0.9	0.4	0.5	0.3	0.5	0.8	0.8	1.2	0.2	0.3	2.3	1.1	1153.2	1535	0.75	
	Fire Response Time	3.5	3.7	4	5.6	3.9	4.4	4.3	4.7	5.0	4.7	5.6	5.2	6546.8	1535	4.27	
	Total time	4.4	4.1	4.5	5.9	4.4	5.2	5.1	5.9	5.2	5.0	7.9	6.3	7700.0	1535	5.02	
June 2014	Number of Calls	298	219	105	63	152	137	84	201	41	124	73	33	1530			(total min/total calls)
	Response Time	0.8	0.9	0.5	0.9	0.6	0.7	1.3	1.2	0.3	0.6	0.4	0.3	1208.0	1530	0.79	
	Time	3.4	4	4	5.2	3.9	4.6	4.5	4.7	4.9	4.7	6.1	4.7	6566.6	1530	4.29	
	Total time	4.2	4.9	4.5	6.1	4.5	5.3	5.8	5.9	5.2	5.3	6.5	5.0	7774.6	1530	5.08	
July 2014	Number of Calls	279	111	222	83	155	165	112	208	45	129	70	27	1606			(total min/total calls)
	Response Time	0.9	0.7	0.6	0.4	0.5	1.9	0.6	0.3	0.5	0.4	0.6	0.1	1134.6	1606	0.71	
	Time	3.4	4	3.9	5.3	3.8	4.7	4.2	4.9	4.5	4.8	5.5	6.4	6931.9	1606	4.32	
	Total time	4.3	4.7	4.5	5.7	4.3	6.6	4.8	5.2	5.0	5.2	6.1	6.5	8066.5	1606	5.02	

City of Peoria
Emergency Communications Center

Peoria Fire Department
Fire Calls for Service
By Fire Map

Month	Fire Map	VALLEY				BLUFF			RICHWOODS					Total Calls	Total Minutes	Calls	Average
		100-199	200-299	400-499	1200-1299	300-399	1000-1099	1100-1199	1300-1399	1500-1599	1600-1699	1900-1999	2000-2099				
August 2014	Number of Calls	273	117	216	77	176	149	97	234	49	144	82	44	1658			(total min/total calls)
	Response Time	0.7	0.4	0.6	0.9	0.7	0.5	1.5	1.4	0.2	0.5	0.6	0.4	1256.2	1658	0.76	
	Time	3.5	3.8	4.1	4.7	3.7	4.5	3.9	4.8	4.0	4.5	5.3	5.7	7000.2	1658	4.22	
	Total time	4.2	4.2	4.7	5.6	4.4	5.0	5.4	6.2	4.2	5.0	5.9	6.1	8256.4	1658	4.98	
September 2014	Number of Calls	262	89	232	62	169	132	101	224	41	117	72	43	1544			(total min/total calls)
	Response Time	0.5	0.8	0.7	0.6	0.6	0.7	1.6	0.7	0.4	0.8	1.5	1.3	1187.9	1544	0.77	
	Time	3.3	3.4	4.3	4.9	3.9	4.7	3.9	4.5	4.0	4.5	5.9	5.3	6493.2	1544	4.21	
	Total time	3.8	4.2	5.0	5.5	4.5	5.4	5.5	5.2	4.4	5.3	7.4	6.6	7681.1	1544	4.97	
October 2014	Number of Calls	266	112	207	79	160	152	80	192	43	127	48	48	1514			(total min/total calls)
	Response Time	0.8	0.5	0.6	0.6	0.6	1.3	0.4	0.5	0.7	0.4	0.7	0.9	1019.7	1514	0.67	
	Time	3.5	3.6	4.2	6.2	3.9	4.4	4.2	4.7	4.5	4.3	5.3	5.4	6477.8	1514	4.28	
	Total time	4.3	4.1	4.8	6.8	4.5	5.7	4.6	5.2	5.2	4.7	6.0	6.3	7497.5	1514	4.95	
November 2014	Number of Calls	236	98	209	67	159	127	102	154	50	116	53	32	1403			(total min/total calls)
	Response Time	0.3	0.8	0.4	1.0	0.8	1.1	1.0	0.5	0.3	0.2	0.2	0.6	813.7	1403	0.58	
	Time	3.4	3.8	4	5.2	3.9	4.7	4.2	4.9	4.3	4.9	6.1	5.8	6051.5	1403	4.31	
	Total time	3.7	4.6	4.4	6.2	4.7	5.8	5.2	5.4	4.6	5.1	6.3	6.4	6865.2	1403	4.89	
December 2014	Number of Calls	234	103	212	84	146	146	101	203	42	154	74	37	1536			(total min/total calls)
	Response Time	0.9	0.5	0.7	0.3	1.0	0.5	1.4	0.4	0.5	0.4	1.0	0.4	1048.7	1536	0.68	
	Time	3.5	3.9	4.3	5.7	3.8	4.9	4.2	4.7	4.6	4.5	14.7	5.4	7433.4	1536	4.84	
	Total time	4.4	4.4	5.0	6.0	4.8	5.4	5.6	5.1	5.1	4.9	15.7	5.8	8482.1	1536	5.52	
YEAR TO DATE TOTALS AND AVERAGES																	
												18489					
												0.73					
												4.39					
												5.12					

City of Peoria
 Emergency Communications Center
 Peoria County Sheriff's Department
 Urgent calls for service by district

	County District	700	710	711	712	713	714	715	716	717	718	726	Other	Total Calls		
January 2014	Number of Calls	5	2	9	2	91	80	51	19	36	28	64		387		(total min/total calls)
	Exceptions													0		
	Dispatch Response Time	1.8	8.5	1.0	0.0	1.7	2.0	1.6	1.0	0.7	1.3	1.8		627.1	387	1.62
	Police Response Time	4.6	12.5	9.1	14.0	8.2	8.0	12.7	7.6	3.4	8.5	4.5		2984.6	387	7.71
	Total time	6.4	21.0	10.1	14.0	9.9	10.0	14.3	8.6	4.1	9.8	6.3		3611.7	387	9.33
February 2014	Number of Calls	2	2	4	0	82	61	34	5	18	34	58		300		(total min/total calls)
	Exceptions													0		
	Dispatch Response Time	1.0	1.0	0.3	0.0	1.6	1.4	1.3	1.6	0.8	2.4	1.4		451.2	300	1.50
	Police Response Time	1.0	21.0	11.0	0.0	9.0	8.8	10.9	6.2	2.9	9.2	5.1		2425.2	300	8.08
	Total time	2.0	22.0	11.3	0.0	10.6	10.2	12.2	7.8	3.7	11.6	6.5		2876.4	300	9.59
March 2014	Number of Calls	3	10	7	1	77	80	40	5	21	36	89		369		(total min/total calls)
	Exceptions													0		
	Dispatch Response Time	3.0	0.9	1.6		2.6	1.6	1.6	0.5	0.6	2.7	1.3		649.4	369	1.76
	Police Response Time	4.3	15.0	8.0	15.0	7.6	6.9	12.9	7.5	3.9	6.5	3.8		2578.7	369	6.99
	Total time	7.3	15.9	9.6	15.0	10.2	8.5	14.5	8.0	4.5	9.2	5.1		3228.1	369	8.75
April 2014	Number of Calls	3	2	9	1	105	78	48	14	29	40	63		392		(total min/total calls)
	Exceptions													0		
	Dispatch Response Time	4.7	0.0	1.5	0.0	2.0	2.6	3.3	1.4	0.5	1.0	1.2		748.5	392	1.91
	Police Response Time	1.5	16.5	4.1	14.0	7.7	7.2	11.1	6.4	3.9	6.2	3.4		2656.2	392	6.78
	Total time	6.2	16.5	5.6	14.0	9.7	9.8	14.4	7.8	4.4	7.2	4.6		3404.7	392	8.69
May 2014	Number of Calls	3	2	8	3	82	103	43	8	26	45	92		415		(total min/total calls)
	Exceptions													0		
	Dispatch Response Time	1.0	4.0	1.7	0.7	1.5	2.3	1.7	0.7	1.8	1.9	2.2		800.0	415	1.93
	Police Response Time	4.0	8.0	7.5	12.0	6.9	6.8	10.5	5.9	3.8	8.0	4.1		2724.9	415	6.57
	Total time	5.0	12.0	9.2	12.7	8.4	9.1	12.2	6.6	5.6	9.9	6.3		3524.9	415	8.49
June 2014	Number of Calls	7	3	10	0	106	101	50	15	30	34	84		440		(total min/total calls)
	Exceptions													0		
	Dispatch Response Time	1.8	1.3	3.7	0.0	1.8	1.7	1.1	0.5	1.7	2.0	1.4		715.1	440	1.63
	Police Response Time	2.2	20.7	5.2	0.0	7.0	6.0	12.2	5.9	3.5	6.9	3.8		2834.8	440	6.44
	Total time	4.0	22.0	8.9	0.0	8.8	7.7	13.3	6.4	5.2	8.9	5.2		3549.9	440	8.07
July 2014	Number of Calls	3	4	10	1	103	69	48	10	29	17	70		364		(total min/total calls)
	Exceptions													0		
	Dispatch Response Time	4.5	0.5	0.8	1.0	1.7	2.7	3.6	2.0	1.1	1.0	1.3		718.6	364	1.97
	Police Response Time	3.0	9.8	8.0	16.0	6.8	6.0	12.2	11.0	3.8	6.1	4.1		2455.1	364	6.74
	Total time	7.5	10.3	8.8	17.0	8.5	8.7	15.8	13.0	4.9	7.1	5.4		3173.7	364	8.72

City of Peoria
Emergency Communications Center
Peoria County Sheriff's Department
Urgent calls for service by district

	County District	700	710	711	712	713	714	715	716	717	718	726	Other	Total Calls		
															Total Minutes	Calls
August 2014	Number of Calls	6	8	8	3	103	102	50	18	37	49	87		471		(total min/total calls)
	Exceptions													0		
	Dispatch Response Time	1.0	6.7	0.6	0.0	1.5	1.5	1.5	0.6	1.4	1.9	1.3		715.7	471	1.52
	Police Response Time	7.4	15.6	9.3	12.5	8.0	7.5	11.5	5.4	3.1	7.4	4.1		3376.3	471	7.17
	Total time	8.4	22.3	9.9	12.5	9.5	9.0	13.0	6.0	4.5	9.3	5.4		4092.0	471	8.69
September 2014	Number of Calls	5	3	8	2	84	85	43	18	33	29	72		382		(total min/total calls)
	Exceptions													0		
	Dispatch Response Time	1.0	1.0	1.0	0.0	1.3	1.7	2.3	2.4	0.9	1.2	1.6		591.5	382	1.55
	Police Response Time	6.8	18.7	10.9	9.0	7.7	7.0	12.2	8.7	3.6	6.9	4.7		2775.6	382	7.27
	Total time	7.8	19.7	11.9	9.0	9.0	8.7	14.5	11.1	4.5	8.1	6.3		3367.1	382	8.81
October 2014	Number of Calls	1	6	4	0	72	67	68	4	40	40	75		377		(total min/total calls)
	Exceptions													0		
	Dispatch Response Time	1.0	1.7	3.0	0.0	1.8	2.0	1.1	0.8	1.4	1.1	1.2		554.8	377	1.47
	Police Response Time	0.0	20.0	10.5	0.0	7.3	8.3	11.0	6.5	3.4	6.3	3.4		2660.7	377	7.06
	Total time	1.0	21.7	13.5	0.0	9.1	10.3	12.1	7.3	4.8	7.4	4.6		3215.5	377	8.53
November 2014	Number of Calls	5	2	11	2	95	90	56	15	37	40	65		418		(total min/total calls)
	Exceptions													0		
	Dispatch Response Time	10.3	1.5	1.0	2.0	2.4	2.9	1.7	0.9	1.3	1.4	1.2		849.3	418	2.03
	Police Response Time	5.2	24.0	8.0	20.5	7.7	8.5	12.2	8.8	4.1	7.5	4.5		3258.9	418	7.80
	Total time	15.5	25.5	9.0	22.5	10.1	11.4	13.9	9.7	5.4	8.9	5.7		4108.2	418	9.83
December 2014	Number of Calls	3	0	4	1	91	80	47	12	29	41	92		400		(total min/total calls)
	Exceptions													0		
	Dispatch Response Time	6.5	0.0	0.3	2.0	1.5	1.3	1.2	1.2	1.6	0.9	0.9		500.1	400	1.25
	Police Response Time	4.0	0.0	8.0	16.0	8.4	7.5	10.0	9.2	3.1	6.4	3.4		2669.9	400	6.67
	Total time	10.5	0.0	8.3	18.0	9.9	8.8	11.2	10.4	4.7	7.3	4.3		3170.0	400	7.93
YEAR TO DATE TOTALS AND AVERAGES																
														Total Number of Calls	4715	
														Total Number of Exceptions	392	
														Average Dispatch Response Time	1.68	
														Average Police Response Time	7.11	
														Average Total Time	8.78	

City of Peoria
Emergency Communications Center
Peoria County Sheriff's Department
Routine calls by district

Month	County District	700	710	711	712	713	714	715	716	717	718	726	Other	Total Calls	Total Minutes	Calls	Average
		Number of Calls	Exceptions														
January 2014	Number of Calls	35	4	8	3	91	121	51	5	47	41	77		483			
	Exceptions													0			
	Dispatch Response Time	8.7	18.3	3.0	17.3	11.0	8.9	10.4	9.2	8.7	6.9	9.4		4523.5	483	9.37	
	Police Response Time	3.7	19.8	5.3	22.0	12.1	10.0	15.6	6.0	4.9	8.8	6.1		4514.6	483	9.35	
	Total time	12.4	38.1	8.3	39.3	23.1	18.9	26.0	15.2	13.6	15.7	15.5		9038.1	483	18.71	
February 2014	Number of Calls	11	8	5	4	87	128	54	5	19	41	64		426			
	Exceptions													0			
	Dispatch Response Time	10.4	16.1	9.6	5.7	11.6	10.1	14.6	40.4	9.2	9.3	8.4		4700.1	426	11.03	
	Police Response Time	4.5	18.3	9.3	21.3	12.0	10.0	15.1	19.4	4.5	9.3	5.0		4350.8	426	10.21	
	Total time	14.9	34.4	18.9	27.0	23.6	20.1	29.7	59.8	13.7	18.6	13.4		9050.9	426	21.25	
March 2014	Number of Calls	33	11	5	1	116	116	56	14	29	47	92		520			
	Exceptions													0			
	Dispatch Response Time	8.1	8.1	10.2		14.2	13.0	8.7	16.3	9.2	13.4	12.2		6297.0	520	12.11	
	Police Response Time	4.8	17.5	6.6	0.0	10.8	9.1	14.4	15.2	6.6	11.8	5.5		4963.5	520	9.55	
	Total time	12.9	25.6	16.8	0.0	25.0	22.1	23.1	31.5	15.8	25.2	17.7		11260.5	520	21.65	
April 2014	Number of Calls	28	5	8	1	96	131	61	17	34	42	100		523			
	Exceptions													0			
	Dispatch Response Time	9.7	14.4	23.1	0.0	9.2	12.8	10.4	4.4	10.5	6.7	15.4		5976.0	523	11.43	
	Police Response Time	6.3	16.4	7.1	0.0	9.6	8.9	11.7	10.1	4.5	8.1	6.0		4381.3	523	8.38	
	Total time	16.0	30.8	30.2	0.0	18.8	21.7	22.1	14.5	15.0	14.8	21.4		10357.3	523	19.80	
May 2014	Number of Calls	41	9	14	1	140	194	52	9	36	57	88		641			
	Exceptions													0			
	Dispatch Response Time	4.3	5.8	14.3	9.0	10.3	10.3	6.5	11.4	9.4	17.4	14.0		6880.7	641	10.73	
	Police Response Time	4.8	19.0	6.9	0.0	10.0	9.4	12.8	16.6	6.5	8.7	5.7		5734.5	641	8.95	
	Total time	9.1	24.8	21.2	9.0	20.3	19.7	19.3	28.0	15.9	26.1	19.7		12615.2	641	19.68	
June 2014	Number of Calls	28	8	6	4	115	148	66	13	44	51	104		587			
	Exceptions													0			
	Dispatch Response Time	10.4	1.5	6.0	8.0	12.4	9.5	10.0	11.2	13.3	9.8	14.7		6622.6	587	11.28	
	Police Response Time	5.9	23.3	7.3	19.8	10.1	8.6	12.3	12.8	5.6	8.5	6.9		5284.6	587	9.00	
	Total time	16.3	24.8	13.3	27.8	22.5	18.1	22.3	24.0	18.9	18.3	21.6		11907.2	587	20.28	
July 2014	Number of Calls	24	7	5	2	159	140	71	16	34	60	107		625			
	Exceptions													0			
	Dispatch Response Time	18.2	13.7	36.7	19.5	11.6	11.3	8.4	9.3	11.9	8.0	13.3		7234.5	625	11.58	
	Police Response Time	7.4	17.3	12.6	8.5	10.5	9.2	13.6	15.4	4.2	8.3	5.9		5820.3	625	9.31	
	Total time	25.6	31.0	49.3	28.0	22.1	20.5	22.0	24.7	16.1	16.3	19.2		13054.8	625	20.89	

City of Peoria
Emergency Communications Center
Peoria County Sheriff's Department
Routine calls by district

	County District	700	710	711	712	713	714	715	716	717	718	726	Other	Total Calls	Calls	Average
		Number of Calls	Exceptions													
August 2014	Number of Calls	36	13	11	4	111	157	60	22	44	59	99		616		
	Exceptions													0		
	Dispatch Response Time	8.8	9.9	4.8	12.8	10.1	8.7	8.8	6.4	9.3	8.2	8.6		5449.7	616	8.85
	Police Response Time	4.1	19.7	10.5	17.0	10.9	9.5	12.5	9.5	5.4	10.4	7.0		5791.8	616	9.40
	Total time	12.9	29.6	15.3	29.8	21.0	18.2	21.3	15.9	14.7	18.6	15.6		11241.5	616	18.25
September 2014	Number of Calls	31	2	12	2	105	119	62	7	54	46	102		542		
	Exceptions													0		
	Dispatch Response Time	13.7	1.5	6.9	3.0	9.4	7.3	7.2	2.2	8.7	6.9	9.5		4590.2	542	8.47
	Police Response Time	6.4	17.5	7.5	13.0	10.9	9.6	13.8	7.9	5.6	9.2	5.7		4854.2	542	8.96
	Total time	20.1	19.0	14.4	16.0	20.3	16.9	21.0	10.1	14.3	16.1	15.2		9444.4	542	17.43
October 2014	Number of Calls	43	8	10	0	108	125	67	8	30	43	69		511		
	Exceptions													0		
	Dispatch Response Time	7.2	14.6	13.4	0.0	11.1	7.3	7.6	7.4	14.3	9.4	11.2		4846.1	511	9.48
	Police Response Time	4.6	15.7	7.7	0.0	11.9	9.1	16.7	7.7	4.9	10.5	6.9		5078.2	511	9.94
	Total time	11.8	30.3	21.1	0.0	23.0	16.4	24.3	15.1	19.2	19.9	18.1		9924.3	511	19.42
November 2014	Number of Calls	49	1	2	3	113	109	63	14	47	41	68		510		
	Exceptions													0		
	Dispatch Response Time	6.5	2.0	3.5	18.3	8.2	9.2	9.7	4.6	7.3	8.2	6.2		4088.2	510	8.02
	Police Response Time	4.3	18.0	10.5	12.3	9.7	8.8	12.4	12.1	4.6	10.2	6.3		4355.3	510	8.54
	Total time	10.8	20.0	14.0	30.6	17.9	18.0	22.1	16.7	11.9	18.4	12.5		8443.5	510	16.56
December 2014	Number of Calls	48	4	10	2	77	115	59	15	23	39	70		462		
	Exceptions													0		
	Dispatch Response Time	12.2	22.0	14.0	4.5	8.2	6.4	7.9	3.3	6.7	4.3	6.0		3447.4	462	7.46
	Police Response Time	4.5	23.3	5.9	24.5	12.7	7.5	12.6	10.3	4.3	8.1	5.8		3976.3	462	8.61
	Total time	16.7	45.3	19.9	29.0	20.9	13.9	20.5	13.6	11.0	12.4	11.8		7423.7	462	16.07
YEAR TO DATE TOTALS AND AVERAGES																
														Total Number of Calls	6446.0	
														Total Number of Exceptions	0	
														Average Dispatch Response Time	9.98	
														Average Police Response Time	9.18	
														Average Total Time	19.17	

City of Peoria
 Emergency Communications Center
 Peoria County Sheriff's Department
 Backlog Calls for Service by District

	County District	700	710	711	712	713	714	715	716	717	718	726	Other	Total Calls		
		Number of Calls														
January 2014	Number of Calls	12	1	2	0	8	10	6	4	1	2	0		46		
	Exceptions													0		
	Dispatch Response Time	80.3	17.0	0.5	0.0	19.0	10.6	11.3	4.0	11.0	49.5	0.0		1433.4	46	31.2
	Police Response Time	21.8	0.0	1.0	0.0	11.3	6.7	13.2	7.0	0.0	28.0	0.0		584.2	46	12.7
	Total time	102.1	17.0	1.5	0.0	30.3	17.3	24.5	11.0	11.0	77.5	0.0	0.0	2017.6	46	43.9
February 2014	Number of Calls	0	6	1	4	7	10	1	9	0	0	6		44		
	Exceptions													0		
	Dispatch Response Time	174.5	1.0	0.0	0.0	6.8	6.3	20.4	12.0	8.6	14.4	34.9		454.4	44	10.3
	Police Response Time	30.0	22.0	0.0	0.0	12.8	12.3	12.6	7.0	12.1	5.8	14.3		506.0	44	11.5
	Total time	204.5	23.0	0.0	0.0	19.6	18.6	33.0	19.0	20.7	20.2	49.2	0.0	960.4	44	21.8
March 2014	Number of Calls	12	0	1	0	10	8	6	2	1	5	8		53		
	Exceptions													0		
	Dispatch Response Time	148.0		18.0		18.5	45.3	4.5	0.5	5.0	16.4	15.9		2583.6	53	48.7
	Police Response Time	20.3		14.0	0.0	16.1	5.5	15.4	2.0	6.0	14.6	5.9		684.9	53	12.9
	Total time	168.3	0.0	32.0	0.0	34.6	50.8	19.9	2.5	11.0	31.0	21.8	0.0	3268.5	53	61.7
April 2014	Number of Calls	9	0	4	0	6	9	11	0	3	7	6		55		
	Exceptions													0		
	Dispatch Response Time	161.2	0.0	6.0	0.0	6.7	9.8	14.5	0.0	48.0	21.4	48.5		2347.5	55	42.7
	Police Response Time	15.0	0.0	3.8	0.0	17.6	4.7	17.5	0.0	11.0	6.3	5.2		598.9	55	10.9
	Total time	176.2	0.0	9.8	0.0	24.3	14.5	32.0	0.0	59.0	27.7	53.7	0.0	2946.4	55	53.6
May 2014	Number of Calls	12	0	3	0	3	16	4	0	2	7	11		58		
	Exceptions													0		
	Dispatch Response Time	137.5	0.0	3.0	0.0	1.7	17.3	11.8	0.0	1.0	38.9	18.8		2469.2	58	42.6
	Police Response Time	17.3	0.0	6.3	0.0	15.3	9.8	29.8	0.0	1.5	11.4	6.5		702.7	58	12.1
	Total time	154.8	0.0	9.3	0.0	17.0	27.1	41.6	0.0	2.5	50.3	25.3	0.0	3171.9	58	54.7
June 2014	Number of Calls	8	1	3	1	13	13	12	0	3	2	9		65		
	Exceptions													0		
	Dispatch Response Time	146.1	1.0	28.0	0.0	9.4	4.8	4.7	0.0	1.7	39.0	17.9		1739.0	65	26.8
	Police Response Time	19.3	26.0	1.0	18.0	12.5	7.6	11.3	0.0	6.0	9.5	8.3		710.0	65	10.9
	Total time	165.4	27.0	29.0	18.0	21.9	12.4	16.0	0.0	7.7	48.5	26.2	0.0	2449.0	65	37.7
July 2014	Number of Calls	12	0	3	0	14	28	3	2	9	8	9		88		
	Exceptions													0		
	Dispatch Response Time	144.2	0.0	51.0	0.0	8.3	9.4	29.0	0.0	15.1	13.4	22.0		2790.9	88	31.7
	Police Response Time	18.8	0.0	4.0	0.0	9.4	9.4	15.0	12.5	5.4	7.6	6.9		873.9	88	9.9
	Total time	163.0	0.0	55.0	0.0	17.7	18.8	44.0	12.5	20.5	21.0	28.9	0.0	3664.8	88	41.6

Urgent-3 min or less
 Routine-30 min or less
 Backlog-60 min or less

This report does not include on-view incidents.

City of Peoria
Emergency Communications Center
Peoria County Sheriff's Department
Backlog Calls for Service by District

	County District	700	710	711	712	713	714	715	716	717	718	726	Other	Total Calls		(total min/total calls) Average
		Number of Calls														
August 2014	Number of Calls	19	0	1	0	7	12	5	2	2	4	6		58		
	Exceptions													0		
	Dispatch Response Time	133.9	0.0	41.0	0.0	27.1	8.5	14.6	5.0	1.5	30.5	6.6		3124.4	58	53.9
	Police Response Time	17.6	0.0	15.0	0.0	12.4	14.3	13.8	19.0	6.0	16.8	6.2		831.2	58	14.3
	Total time	151.5	0.0	56.0	0.0	39.5	22.8	28.4	24.0	7.5	47.3	6.6	0.0	3955.6	58	68.2
September 2014	Number of Calls	13	0	1	0	6	16	8	1	0	5	5		55		
	Exceptions													0		
	Dispatch Response Time	114.9	0.0	1.0	0.0	14.0	2.5	6.6	16.0	0.0	9.3	36.0		1914.0	55	34.8
	Police Response Time	17.2	0.0	7.0	0.0	16.7	6.7	11.1	21.0	0.0	6.0	3.6		595.8	55	10.8
	Total time	132.1	0.0	8.0	0.0	30.7	9.2	17.7	37.0	0.0	15.3	36.0	0.0	2509.8	55	45.6
October 2014	Number of Calls	7	1	2	0	10	13	7	0	7	6	10		63		
	Exceptions													0		
	Dispatch Response Time	38.3	59.0	59.0	0.0	12.9	7.0	5.7	0.0	13.0	5.0	5.7		883.0	63	14.0
	Police Response Time	20.1	10.0	0.0	0.0	10.1	8.3	25.7	0.0	4.1	7.8	8.2		697.0	63	11.1
	Total time	58.4	69.0	59.0	0.0	23.0	15.3	31.4	0.0	17.1	12.8	5.7	0.0	1580.0	63	25.1
November 2014	Number of Calls	10	0	4	0	5	7	5	1	3	6	6		47		
	Exceptions													0		
	Dispatch Response Time	62.3	0.0	13.8	0.0	7.4	3.0	17.8	11.0	5.0	23.2	6.7		1030.6	47	21.9
	Police Response Time	16.7	0.0	4.7	0.0	10.0	9.9	11.8	4.0	5.7	12.0	7.6		502.8	47	10.7
	Total time	79.0	0.0	18.5	0.0	17.4	12.9	29.6	15.0	10.7	35.2	6.7	0.0	1533.4	47	32.6
December 2014	Number of Calls	6	0	3	0	8	5	5	1	1	2	2		33		
	Exceptions													0		
	Dispatch Response Time	125.2	0.0	21.0	0.0	17.3	11.4	2.8	28.0	71.0	17.5	11.0		1179.6	33	35.7
	Police Response Time	19.5	0.0	1.5	0.0	9.8	9.0	21.4	18.0	4.0	37.5	7.5		463.9	33	14.1
	Total time	144.7	0.0	22.5	0.0	27.1	20.4	24.2	46.0	75.0	55.0	11.0	0.0	1643.5	33	49.8
YEAR TO DATE TOTALS AND AVERAGES																
	Total Number of Calls												665			
	Total Number of Exceptions												0.0			
	Average Dispatch Response Time												32.86			
	Average Police Response Time												11.83			
	Average Total Time												44.69			



SITE PLAN REVIEW BOARD AGENDA

Plans Distributed: December 29, 2014

Comments Due: January 5, 2015

Project ID	Address	Project Type	Project Description
14-398	N RICHARD PRYOR PL 18-09-109-025 18-09-110-027	Site Plan Review Board - Zoning Certificate	Assisted Living - 518 W Romeo B Garrett - (Council District 1) - KS

Staff Contacts:

Name	Leah Allison	Jide Giwa	Josh Naven	Kimberly Smith	Shannon Techie
Initials	LA	JG	JN	KS	ST
Phone	494-8667	494-8611	494-8657	494-8612	494-8649
Email	lallison@peoriagov.org	ogiwa@peoriagov.org	jnaven@peoriagov.org	kismith@peoriagov.org	stechie@peoriagov.org

HOUSING COURT 1/6/15

52 CASES

DG	NO	09:00 AM	CJD PROPERTIES	HC-14-416	MACHIN 1812	06-Jan-15	REVIEW
DG	O	09:45 AM	WORLEY MICHAEL/TANYA	HC-15-014	UNIVERSITY 2624	06-Jan-15	FIRST APPEARANCE
DG	O	09:45 AM	HENDON MARY	HC-15-013	VIRGINIA 1119 W	06-Jan-15	FIRST APPEARANCE
DM	C	09:00 AM	JCT INC	HC-14-628	KNOXVILLE 1621	06-Jan-15	REVIEW
GW	NO	09:45 AM	LENARD LATOYA	HC-13-095	ADRIAN HINTON 1320	06-Jan-15	REVIEW DEF PEND - DEMO?
GW	NO	09:45 AM	COLEMAN OSZIE/CORA	HC-15-004	AIKEN 1200	06-Jan-15	FIRST APPEARANCE
GW	NO	09:45 AM	FREEMAN RICHARD	HC-15-003	AIKEN 1206	06-Jan-15	FIRST APPEARANCE
GW	NO	09:45 AM	MUHAMMAD ROBERT	HC-15-001	BLAINE 0907	06-Jan-15	FIRST APPEARANCE
GW	NO	09:45 AM	BELLEMY KATHY	HC-14-643	HUMBOLDT 2502	06-Jan-15	REVIEW
GW	NO	09:45 AM	YOUNGER VALERIE	HC-14-096	JOHN GWYNN 1213	06-Jan-15	REVIEW
GW	O	09:45 AM	JACKSON CHARLIE/JULIE	HC-14-644	MADISON 1412 NE	06-Jan-15	REVIEW
GW	NO	09:45 AM	DUNNIGAN MARSHALL	HC-15-002	WESTERN 1406	06-Jan-15	FIRST APPEARANCE
LA	NO	09:00 AM	SARROS JAMES	HC-14-588	ARCHER 0313 E	06-Jan-15	REVIEW
LA	NO	09:45 AM	RV HOLDINGS TWO LLC	HC-15-009	BIGELOW 1911	06-Jan-15	FIRST APPEARANCE
LA	NO	09:45 AM	SALEM BROS INVESTMENTS	HC-15-007	CALIFORNIA 1808	06-Jan-15	FIRST APPEARANCE
LA	O	09:45 AM	DICUS ESTATE	HC-14-578	FLINT 2811	06-Jan-15	REVIEW
LA	NO	09:45 AM	GUERRERO SANDRA	HC-15-006	FRYE 0403 E	06-Jan-15	FIRST APPEARANCE
LA	NO	09:45 AM	ENIGMA EQUITIES	HC-15-012	INDIANA 1627	06-Jan-15	FIRST APPEARANCE
LA	NO	09:45 AM	JCP PROPERTIES LLC	HC-15-011	KANSAS 0723 E	06-Jan-15	FIRST APPEARANCE
LA	NO	09:45 AM	JPC PROPERITES LLC	HC-15-018	KANSAS 0725	06-Jan-15	FIRST APPEARANCE
LA	NO	09:45 AM	COHEN JEFF	HC-15-008	KANSAS 0730 E	06-Jan-15	FIRST APPEARANCE
LA	O	09:45 AM	LYONS LULA	HC-14-655	KNOLL CREST 0635	06-Jan-15	REVIEW
LA	NO	09:45 AM	SCHUMACHER LLOYD	HC-14-716	LINN 1504	06-Jan-15	REVIEW
LA	NO	09:45 AM	HERRARTE JOSE	HC-14-230	MARQUETTE 2212	06-Jan-15	REVIEW
LA	NO	09:45 AM	HENNESSEY BRYAN	HC-15-005	NEBRASKA 0405 E	06-Jan-15	FIRST APPEARANCE
LA	NO	09:00 AM	LEVAN MARGARET	HC-14-137	PEORIA 2004	06-Jan-15	REVIEW
LA	O	09:45 AM	GRIFFITH SHAMIKA	HC-15-010	REPUBLIC 0404 E	06-Jan-15	FIRST APPEARANCE
LE	O	09:00 AM	CALVERT BARRY	HC-14-671	BARKER 1821	06-Jan-15	REVIEW
LE	NO	09:00 AM	CONSOLIDATED PROPERTIES	HC-14-678	BROADWAY 1319	06-Jan-15	REVIEW
LE	O	09:00 AM	GRADY ALAN	HC-14-675	ELMWOOD 1020	06-Jan-15	REVIEW
LE	NO	09:00 AM	MOSS/GRANT/ANDRADA	HC-14-593	FLORA 1010	06-Jan-15	REVIEW
LE	NO	09:00 AM	MAGNA TR # 90-PO67 (HUFF)	HC-14-490	FREDONIA 1714	06-Jan-15	REVIEW
LE	NO	09:00 AM	THAKKER KAVITA	HC-14-605	FRINK 1103	06-Jan-15	REVIEW
LE	NO	09:00 AM	ELIAS STEV/JULIA	HC-14-616	GLENWOOD 1011 N	06-Jan-15	REVIEW/DEFAULT PEND.
PM	NO	09:00 AM	HOARD GREG/ROB/ALDONA/NAN	HC-14-684	ATLANTIC 2018	06-Jan-15	REVIEW
PM	NO	09:00 AM	HINTON JACK/ANNA	HC-14-686	ATLANTIC 2020	06-Jan-15	REVIEW
PM	O	09:00 AM	MIRANDA JAVIER	HC-15-017	CALIFORNIA	06-Jan-15	FIRST APPEARANCE
PM	NO	09:00 AM	HILLMAN RONALD/CAROL	HC-14-680	CALIFORNIA 1835	06-Jan-15	REVIEW
PM	NO	09:00 AM	MOORE GARRY/OLA	HC-14-663	CENTRAL 2321	06-Jan-15	REVIEW
PM	NO	09:00 AM	HOOVER PROPERTIES	HC-15-016	DELAWARE 2308	06-Jan-15	FIRST APPEARANCE
PM	NO	09:00 AM	DOZARD RONALD/CINDY	HC-14-212	FAIRHOLM 0626	06-Jan-15	REVIEW

PM	O	09:00 AM	BLANKENSHIP REBECCA	HC-15-015	GIFT 1016 E	06-Jan-15	FIRST APPEARANCE
PM	NO	09:00 AM	BELCHER TERRY	HC-14-660	GIFT 1018 E	06-Jan-15	REVIEW
PM	NO	09:00 AM	VALLADERES EVEYDA	HC-13-700	GLENDALE 1100 NE	06-Jan-15	REVIEW
PM	O	09:00 AM	KINMAN JUDITH	HC-14-661	MARYLAND 2110	06-Jan-15	REVIEW
PM	NO	09:00 AM	WITTE CHARLES/PEARL	HC-14-553	McCLURE 1202 E	06-Jan-15	REVIEW
PM	NO	09:00 AM	SALEM BROS INVESTMENTS	HC-14-451	McCLURE 906 E	06-Jan-15	REHEARING/DEFAULT \$1500
PM	NO	09:00 AM	HILLMAN RONALD	HC-14-681	NEW YORK 1822	06-Jan-15	REVIEW
PM	NO	09:00 AM	ACKERMAN JASON	HC-14-506	PARIS 1427	06-Jan-15	REVIEW/DEFAULT PEND
PM	NO	09:00 AM	REAVES ANDRE	HC-14-658	PROSPECT 2634	06-Jan-15	REVIEW
PM	O	09:00 AM	CUMMINGS DONALD	HC-14-724	REPUBLIC 0809 E	06-Jan-15	REVIEW
SCA	NO	09:00 AM	JOHNSON RON/BARBARA	HC-14-737	NORTH 1810	06-Jan-15	REVIEW

NUMBER OF CASES 29

PAID	LEGAL CASE NO	DEFENDANT	PROPERTY ADDRESS	FINE AMOUNT	INSPECTOR	DISPOSITION
	14-CV-1703	ANDRADA, WILMER	1212 N BOURLAND AVE	\$50	LE	
	14-CV-1698	ARREDONDON, ISABEL	816 W MACQUEEN AVE	\$50	DG	
	14-CV-1714	CENTRAL ILLINOIS CELL PHONE REPAIR	8420 N KNOXVILLE AVE	\$300	NR	
X	14-CV-1648	CRISS, DOROTHY	719 W JAMES ST	\$150	BB	DISMISSED - PAID ON 12/3/14
	14-CV-1750	DANZ, WARREN	633 MAIN ST	\$300	NR	
	14-CV-1701	DJB INVESTMENTS LLC SERIES D	1201 N DOUGLAS ST	\$50	LE	
	14-CV-1749	DORSEY, MARGARET	1107 W STRATFORD DR	\$300	NR	
	14-CV-1678	EHLERS, JOHN	1217 N ORANGE ST	\$50	LE	
	14-CV-1699	FLATT, EARL E	1116 N BOURLAND AVE	\$50	LE	
X	14-CV-1687	GAMBETTI, CLAYTON	1807 W MAIN ST	\$150	BB	DISMISSED - PAID ON 12/10/14
X	14-CV-1688	GAMBETTI, CLAYTON	1804 W BARKER AVE	\$150	BB	DISMISSED - PAID ON 12/10/14
	14-CV-1683	GUZMAN, MANDOQUEO	802 E NEBRASKA AVE	\$50	PM	
X	14-CV-1682	HALE, MARK	1020 E MCCLURE AVE	\$50	PM	DISMISSED - PAID ON 11/25/14
	14-CV-1702	IRAHETA, FERNANDA	1211 N GARFIELD AVE	\$100	LE	
X	14-CV-1679	MASTRONARDI, CONSTANCE	1109 E MCCLURE AVE	\$100	PM	DISMISSED - PAID ON 12/12/14
X	14-CV-1700	MEHTA, DESH P.	1200 N UNDERHILL ST	\$50	LE	DISMISSED - PAID ON 12/12/14
	14-CV-1675	MORGAN, DONNA	1220 N ELLIS ST	\$250	BB	
	14-CV-1726	MT HAWLEY LAKE & LAND LLC	8422 N KNOXVILLE AVE	\$300	NR	
	14-CV-1685	MUNOZ, CARLOS	1228 E VIRGINIA AVE	\$100	PM	
	14-CV-1676	OLSEN, STEVEN	2300 N ELLIS ST	\$250	BB	
	14-CV-1684	PARIS, SHIRLEY	814 E BEHREND'S AVE	\$50	PM	
X	14-CV-1681	QUINTERO, MARIA	1107 E MCCLURE AVE	\$50	PM	DISMISSED - PAID ON 12/15/14
	14-CV-1706	REMY 7 PROPERTIES LLC	1207 E MCCLURE AVE	\$100	PM	
	14-CV-1680	REPKE, MICAH	1006 E VIRGINIA AVE	\$50	PM	
	14-CV-1663	SALTA GROUP	818 W BARTLETT CT	\$50	DG	1ST APPEARANCE CONTINUED TO 1/6/15
X	14-CV-1647	SPRECHER, SHARON	1600 W MOSS AVE	\$150	BB	DISMISSED - PAID ON 12/1/14
	14-CV-1657	SUN TRUST MORTGAGE	1012 E CORRINGTON AVE	\$100	PM	
	14-CV-1689	THE BANK OF NEW YORK MELLON	2914 N WISCONSIN AVE	\$150	BB	
	14-CV-1708	YORDY, JASON	1209 E MCCLURE AVE	\$50	PM	